Following are the cash flows (equal in years 1-5) and a MARR for a proposal.
	 
	MARR=
	14%
	 
	 
	 
	 
	 

	 
	Year
	0
	1
	2
	3
	4
	5

	 
	Cash Flow
	($3,250)
	$500
	$750
	$1,100
	$1,500
	$1,200


 
 a.  Determine the Present Worth.  Based on this, should the proposal be approved or rejected?
b.  Determine the Future Worth.  Based on this, should the proposal be approved or rejected?
c. Determine the Annual Worth.  Based on this, should the proposal be approved or rejected?
d. Determine the Internal Rate of Return.  Based on this, should the proposal be approved or rejected?
e. Determine if this proposal should be accepted using a 4-year discounted payback period criterion.

